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IRR  = DF~  + (DF~  - DF~) wvL

mPvL-  NPV”)

= 18 + (20 - 18) 0.066

0.066 - (-2.24)

= 18.04% Iii KIJ

,ihkl N- = (15 - 5) x 3.960

K 15 + 8.93 + 6.376

39.6=
30.306

= lk
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m 1.  Cut off period mat-i%  Pay-off period m&l

Net average rate of return ?mTnsmisx  = (200 - 25)/8. .
25

= 0.875

!LRE  Net averape  rate of return ?JaJTm4n’~?Y = (300 - 20)/10
20

= 1.4

ins: tZanTn7wis  Y $ ? ”d ‘M  net averape  rate of return = 140%
I Y

WlUi%J::  &mbE4nTi  X %4?fi  net average rate of return LW”W  87.5%





= 22.60

zz loo + 22.60 ~IldEIlyI
Y

z 122.60 RIUIJIM

”

= 30 * 4.757 RlUl.llM
"

= 142.71 0 IUUIM

= 1.16



R = p[i(l  + i)” ]
(1 + i)" -1

9inm5iJM  5 hninwum  tGa i = 12% n = 10

m CRF = 0.177
I I

&& wmls~T~d;F;~g;l~~in~~a\1T~5jnls  n . = 1.3 x 0.177
Y

= 0.2301 RlUUlJ7M

= 230,100 UIM

=  2 0 . 1 1  x 0 . 1 7 7

= 3,559,500 UIM
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.
NFV = n~~?u”uaojwmlss9Elnl~?~i

= 2,000,000  x (3.993  - 0.926) - (I,OOO,OOO  x 3.993)  -

2,000,000

= 6,134,OOO  - 3,993,OOO  - 2,000,OOO

= 141,000 IJIVI

NPV  = 2,000,000  x (3.993 - 0.926) - (1,050,000  x 3.993) -

2,000,000

= 6,134,OOo  - 4,192,65o  - 2,000,000

= - 58,650 Llw
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3; 1. ii?nTWlJ  PII expected benefit ?I&?  1-4

= (100 x -1) + (120 x 2) + (150 x .3) + (2OO'x -25) + (250 x.15)

= 10 + 24 + 45 + 50 + 37.5

= $ 166.5








